Directions: Solve each inequality and graph its solution

1) -3x+2x<6 2) 3—-6n—-4<17
< } } } } —> < } i } } } } } —>
-9 -8 -7 -6 -5 —4 -8 -7 =6 =5 -4 =3 =2 -1 0
)y n-3+4>7 4) O<n—-1+6
<t } } } } } } } ) ( >
3 4 5 6 ') 8 9 10 -10 -8 -6 —4 -2 0
5) -3x—2x<5 6) -2+2m)—2>6
< —> < >
-3 =2 -1 0 1 2 3 4 -8 -7 -6 -5 -4 -3 =2 -l
7) =9 >-8(1 + 6v) — 1 8) 8(1 —4x)>40
< } } } } — £t } } } } } } } —
-3 -2 -1 0 1 2 -6 -5 -4 -3 -2 -1 0 1 2
9) 48 -2b)—-2b<32 10) 5x—-7(x+1)>-9
( i } } } i } ) < } i i } i } } i } )
-3 -2 -1 0 1 2 -4 -3 -2 -1 0 1 2 3 4 5
11) =p+6p<4+6p 12) 5+4x=>x+8
€ | > <« >
-8 -7 -6 -5 —4 -3 -2 -2 -1 0 1 2 3
13) 4k—4—-3k>13—-7k—1+38 14) r—=7>9—7r
< i f } f } ; } — < } } } i i ; } } —
-1 0 1 2 3 4 5 6 7 3 4 5 6 7 8 9 10 11 12
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Answer Key

Directions: Solve each inequality and graph its solution

1) —3x+2X506 2) 3—on—4<1/
€— : : iy ———+—+—
9 -8 7 -6 -5 -4 8 -7 6 -5 -4 -3 -2 -1 0
3 n—3+4=7 4) 0<n—-1+6
A ——t———— A ettty
3 4 5 6 7 8 9 10 -10 -8 -6 -4 =2 0
J) — 33— LB 6) (2+2m)—2>6
-3 =2 -1 0 1 2 3 4 =8 <P = =5 A 3 =2 =l
7) —9=2-8(1+6v)—1 8) 8(1 —4x)>40
< : ——O———t——t= b ——————>
o R S | 0 1 2 -6 -5 -4 -3 =2 -1 0 1 2
9) 48 —-2b)—-2b<32 10) Sx-7(x+1)>-9
(, } } M 4 4 4 ,)
-3 =2 -l 0 1 ) 4 -3 -2 -1 0 1 2 3 4 5
11) —p+6p<4+6p 12) 5+4x=2x+38
-8 -7 -6 =5 -4 -3 =2 = = 0 1 . 3
13) 4k—4—-3k>13-Tk—1+8 14y r—="7>9 —F
—t—t+t+ et
-1 0 1 2 3 4 5 6 7 3 4 § 6 7 B 9 10 11 12
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